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OFN2IIRF&Y| 300,000& « 12& 3,600
204 X243 A H| 2,400 2,400 0
01 XS RHFH| 2,400 2,400 0
OXNBZHRHZH| 2,400
—HE 150,000& + 1Y » 12& 1,800
—2HE 50,000& + 1 » 12& 600
405 XHaHF SHI 22,900 0 22,900
01 Mt = S F SHI 22,900 0 22,900
OM=RE E80l & 300,000& * 20=%= 6,000
OUANSZ JITHH 1,000,000& = 1J4 1,000




CY R VL
M. HESHBHI(SAH)(IIEH/IIE
el =P CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OSNM1D SAHAE2U 250,000 = 124 3,000
O 4t 250,000& = 504 1,250
OHEA 3o E HO0l2 1,300,000& = 24 2,600
OHHA Fo= oK 350,000& « 124 4,200
OHZEA 2H 1,000,000& = 1JH 1,000
OHEa ME 850,000& = 1JH 850
OHZEA Z801& 1,000,000& * 2% 2,000
Oolsa M& 200,000& * 504 1,000




